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Choose correct option :

[.  What is the limitation of accounting ?
(A) Shows profitability (B) shows economic status
(C) Tax planning (D) Stable value of money

2. Salary paid ¥ 15,000. What type of transaction is it ?
(A) Cash transaction of asset (B) Non-ecash transaction of service
(C) Cash transaction of service (D) «Cash transaction of liability

3. Out of the following which asset is a non-current asset ?
(A) Stock of raw material (B) Bills receivables
(C) Debenture discount (D) Franchises

4.  Wages paid for installation of maehinery is debited to wages a/c. Which type of error is

this ? |
(A) Error of Omission (B) Error of Principle
(C) Compensatory error (D) Error of Commission

S. _Statement of Affairs is like

(A) Cash book (B) Journal

(C)_Trial Balance (D) Balance sheet
6.  Journal is a of accounting transactions.

(A) Original book (B) main book

(C) closing book (D) Other book
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7. Credit purchase of assets will be recorded m ___
(B) Journal propcr

lfﬂ ["lll‘t‘hﬂﬂu book
(D) Bills payable book

(C) Cash book

8. s not included in subsidiary book.
(B) Petty cash book

(A) Sales book
(C) Ledger (D) Debit note

9. What is called a * King of Books” ?
(A) Journal book (B) Journal proper book
(C) Ledger book (D) Book for noting of transactions

10. When revenue expenses are paid in cash
(A) increase in assets — increase in liability
(B) decrecase in assets — decrease in capital
(C) increase in assets — increase in capital
(D) decrease in assets — decrease in liability

11. After which stage trial balance is prepared ?
(A) After Journal (B) After adjustment
(C) After ledger (D) Before ledger

12. Bank overdraft as per cashbook means :
(A) debit (B) credit
(C) debit or credit (D) debit and credit

13.  On which price of asset, depreciation is calculated under straight line method ?

(A) Book values (B) Depreciated price
(C) 'Selling price (D) Cost price
14, balance is generally not used for distribution of dividend.
(A) /General reserve (B) Provision
(C) Reserve fund (D) Capital reserve

[5. Who write a promissory note ?
(A) Insurance company (B) Creditor
(C) Debtor (D) Government
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16. At which price closing stock is sho

wn in the final accounts ?

(A) Original cost
(B) Cost price
(C) Market price

(D) Cost price or market price whichever s lower

Independent branch prepares . own trial balance separately. What 1s the concept 1n

17.
this 7 L
(A) Going concern concept (B) Periodicity concept
(C) Accounting entity concept (D) Accrual concept
8. Which book 1is maintained by the traders of forward market to record forward
transactions 7
(A) Hundivahi (B) Kabalavahi
(C) Sudhavahi (D) Vyajvahi
19. What kind of expense , an expense incurred to increase efficiency of business assets is ?
(A) Revenue (B) Capital
(C) Deferred revenue (D) Sundry
20. When ready-made software is mndiﬁeﬁ according to the need of the customer then
what is this software called ?
(A) Ready-made software (B) Customized software
(C) Tailor-made software (D) None of these
21.  What is the interest of drawings of partners for a partner ?
(A) Anexpense . (B) Liability
(C) AnIncome (D) Loss
22.  The capital proportion of A, B and C is 3 : 2 : 1 respectively. The divisible profit is
% 66,000. What will be the amount of profit of C?
(A) % 114000 (B) 22,000
(C)..% 33,000 (D) % 66,000
23,
Goods returned debit means :
(g) Purchase | (B) Purchase return
(C)8ales (D) Sales return
4, g o |
( i)ﬂd;’““ Is a financial value of ;
() F‘}VBStment (B) Prestige of business enterprise
xed assets (D) Competition
JB-127
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25, Superprofitmeans
(A) Capital employed - lxpected profit
(B) Expected profit - Capital employed
(C) Average profit - Expected pml'lil
(D) Expected profit — Average profit

36. In which year was ASB sctup by ICAL?

(A) 1971 (B) 197;

() 1977 (D) 197
7. In which yvear GST applied ?

(A) 2015 (B) 2016

(C) 2017 (D) 2018

78. Revaluation account is also known as : A t
(A) Capital reserve account (B) Profit-loss appropriation accoun

(C) Profit-loss adjustment account (D) Profit-loss account

29. Revaluation account is _ type of account.
(A) Personal (B) Nominal
(C) Real (D) Temporary

30. When only old profit-loss shafing ratio,is given ; Sacrificing ratio of old partners =

(A) equal (B) old ratio

(C) old share — new share (D) Cannot be calculated
31.  When only old profit-loss sharing ratio i1s given ; gaining ratio of remaining partn
will be ;
(A) &l (B) old ratio
(C) Capital ratio (D) Cannot be calculated
32:. How manymethods are there for dissolution of a partnership firm ?
(A) One (B) Three
) Two (D) Four
33.

Which 1s the first payment made from the realization of assets . at the time of the
dissolution of a firm ? ’

(A) Dissolution cxpense

issolu (B) Loan of partners wife
(C) Liabilities towards third parties

(D) partners loan
JB-127 10
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At what maximum rafc .

declared by the company oh {heir IS¢

() 10% (B) 100%
(D) No limit

(© 25%
~ of the public issue ,

If the company does not receive subscription for at least

y share 1ssuc would be cancelled.

thet

(A) 50% (B) 75%

(C) 90% (D) 100%

share called by company Ol

As per SEBI guidelines, the minimum amount of on each

application must be at least ~_ %oftheissue price.

(A) 25 (B) 30

(C) 9 (D) 20

At what rate debentures would be issued at discount ?

(A) 10% (B) 5%

(C) 20% (D) Rates as decided by board of directors
The amount of premium received on issuing debentures at premium 1s
(A) revenue profit (B) capital loss

(C) revenue loss (D) capital profit

What is ‘Premium on redemption of debenture Account’ ?
(A) Asset (B)  Liability
(C) Receivable (D) Loss

The information regarding thie use of assets given the analysis of

(A) Profitability (B) Liquidity
(C) Solvency (D) Efficiency

a company is ¥ 6,00,000 ; and if it is increased by
hat would be the cxpenses of the previous year 7
(B) ¥5,00,000
(D) None of these

The expenses.of the eurrént year of
20% compate to the previous year , W
(A) ¥1,20,000
(C). ¥7,20,000

repare statement of profit and loss and balance sheet in

[t"is._compulsory to p
e-I1I of Companies Act, 2013.

= form as per Schedul

(A) horizontal or T

(B) vertical

g;) statement of profit and loss 15 horizon
) slatement of profit and loss 1S vertical

tal and balance sheet vertical
and balance sheet horizontal

P.1.0.



43,  To amive at liquid assets, which of the following is deducted from current assets .
(A) stock (B) cash and cash equivalent
(C) Debtors (D) Bills receivables

44.  In which terms ratios are presented ?
(A) Proportion (B) Percentage
(C) Tmme (D) All of the given

45. How many activities are there in cash flow statement ?
(A) five (B) four
(C) three (D) two

46. Which of the following transaction is always transaction of operating activity ?
(A) Interest paid on loan (B) Dividend received
(C) Dividend paid (D) Salary expense

47. In which year Partnership Act was implemented.in India ?
(A) 1923 (B) 1932
(C) 1947 (D) 1956

48. In which account and on which side, the share of partners share profit is recorded und:
the fluctuating capital’aceount method ?

(A) Debit to capital account (B) Credit to capital account
(C) Debit to current account (D) Credit to current account

49. Howwould you consider the interest on debit balance of partners current account for

the firm ?
(A), Anexpense (B) Liability
(C) An Income (D) Loss

50.  Which type of account is ‘Borrowed loan account’ ?

(A) Personal account (B) Real account

(C) Nominal account (D) Suspense account
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